1.1 Abstract Reasoning Test

Q1 
Which symbol completes the sequence?

[image: image1.emf]


Answer D

Q2 

Which symbol completes the sequence?
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Answer A

Q3 

Which symbol completes the sequence?
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Answer E

Q4 
Which symbol completes the sequence?
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Answer C

Q5
Which Symbol completes the sequence? 
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Answer D
Q6. Which Symbol completes the sequence? 
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Answer C

Q7
Which Symbol completes the sequence?
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Answer A

Q8
Which Symbol completes the sequence?
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Answer D
Q9
Which Symbol completes the sequence?
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Answer C

Q10. Which Symbol completes the sequence?
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Answer C[image: image11.emf]


